III% % Y2 1% C# 2
EE‘ b‘ % | I] ‘| i E 'D%j*j‘l | I ﬁ lb E O=pE FixE+ HHE HxX Al EHHE
wF B3 HLE EE

5| F:

B 5 8((1659). FREMEETD. STV IT4E (18045 )R

JR3Z(Original sentence)

'.f% e e T %%% jF;'?—I*
areliiicisiadiit ks
%x§§2%%£§§§%2?£%§ NS
BETR 0st a0 TX 224 % 5
i%%ﬁﬁﬁé@%gﬁzég%é% Keyword
Aéﬁ?ié;ﬁézz}’a\zgﬁgﬁ : rice
gi%gglgéij‘?};ﬁ fﬁg% * soy beans
%%L?{g%;ﬁé%ﬁ?ﬁ Zi\g% - red beans
bhAasabea T AOELE

A (Mathematical contents)

F15M2573Kk— 15W

2/\—1ﬁ—o 5
3%—3/\— 7 =0.18757
_NZEEJd &15.6875M & 73%0

1mIZDE. kM1 F63, KEMN2H/., NEN2HRS5LE X BH0DT
K1E H1- L)f6=o.625ﬁ

REAEHT<Y-=0.5M
INEAREBHTY—=0.4T
XE1RES L&, KEL A, MNEFAESDT
RE_AHi-Y>=0.25/
INE BB Y=0.1T0

J:okatjt_,_tll\ DEZDOFIL. 0.975M & 755,
_NTEZE|S L
15.6875+0.975=16.089743
ERY ., KOAMEMAHAEMTES,
_h#x2THS &,
16.089743+2=8.0448715
EIRY, RKEDQDHABZMAEMNTZES,
S HIZ2TEIS &,
8.0448715+2=4.02243575
EIRY, INEDHABZEZMACEMNTZES,

I ~

Gold 15770 2bu 3shu  —q5rvo (D Zb“'%ryo=0.5’"y0...®

3S'yu-3bu-iry °=0.1875™°...3)

Q) + @ + (@)=15.6875"Y°

We can buy 1%°k%“6t° of rice,2*°** of soy beans, 2%°** 5t° of red beans for 177°.

Per rice 1’“’"“ ! —=0.62577°
Per soy beans 1’“”‘” ~=0.577°

Per red beans 1"0"” 1 -0.4’”3’0

1koku 1koku
When | buy 1%°% of rice, | have to buy - of soy beans and - of red

beans.

koku 0.5
Per red beans — —-O 257Y0

1koku 0 4
Per red beans — o =(0.17Y°

Therefore, rice and the friend ship of the aim of a soy bean and red bean

become 0.975"7°,

When | divide gold by this
15.6875+0.975=16.089743...@

We can found a quantity of rice.

When | divide @by 2
16.089743+2=8.0448715...®

We can found a quantity of soy beans.

When | divide Gby 2
8.0448715+2=4.02243575

We can found a quantity of red beans.
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2 DIEEE EDORI-E  Fow to Bnow the amount and price of cereals Ishikawa Noeru  Itaba Yuto

Inoue Takuma

FHAEEER(Modern translation)
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English ~_~

Question

There are 1577° 20U 350t of gold. | can buy 1%°%* 6t° of rice, 2*°** of soy beans, 2*°k¢
5t° of red beans 177°. | set Amount of rice as one. When | buy soy beans half of amount
of rice, and red beans quarter of amount of rice , how much is each.

Answer

When rice is 16K0ku 8syo 9go 7syaku gsat 3satu ' g price of rice is 107Y° 3monme 7bu
When soy beans are 8+0k\ 45y0 490 gsyaku 7sai 1satu gkel g nrice of soy beans are 4Y°

1monme 4_bu 8rin

When red beans are 4%oku 25y0 290 gsyaku 3sai gsatu 7kel gzoku g price of red beans are
17yo Zbu 7monme 1bu 9rin 5mo

Solving method

| suppose money to be 15"7°6875.1%°** of rice is 0.62577°.0.5 divided by 2. 0.25 is in
indication of prices per soy beans 0.5%°*%, 0.4 divided by 4. 0.1 is in indication of
prices per red beans 0.25%°**  The sum of the three standard is 0.975. 15"Y°6875
divided by 0.975. Then we can know the number of’the measures of rice. We divide it
by 2 one after another. Then we can know the number of each measure. This solving
method will be able to use other articles.
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Edo culture

* Because the people of the Edo period did not have a custom to eat meat, the
main protein to take in was a fish or beans.

* As for the Edo culture a big difference was born by the class system such as
soil agriculture and industry dealers.

Low class samurai
An income
= |t didn’t change with the people at the large. — Considerably poor meal
L, They brought up vegetables at their vegetable garden in the daimyo’s
mansion because they were not able to have a proper meal only for an income.

A dish=Pickled radish of vegetables and vegetables picked unusually long
period of time produced in a field.(every day)

A principal food=a rice
—Most of the low class samurais ate only rice and vegetables.

English

Summary

The amount of rice, soybeans and red beans combined and their
price ,the number of each one of rice ,soybean and red bean each
was given and it was a problem to find each quantity and its price.

Future tasks

It took time because it was difficult to fix it into a modern Japanese
translation and to translate into English.
We want to learn reading comprehension more because we could not
well understand the details of this question.

Impressions
We could find old how to solve and we thought the contemporary
mathematics are making progress.



